Printout

June 1, 2016 12:46

PM

Pre Calculus 11

HW 9.2 Quadratic Inequalities
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Solve the inequality —4 + 5y — % > 0
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Solve the inequality 24 + 5y — 4% <0
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Solve the neqguality 62 = 13z —5 =0
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Solve the inequality 822 + 14 — 15 < 0

Solve the inequality 20z — 42 — 25 > 0
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11. (& —3)2x+3) < —(3z+1)(3c + 2)

Solve.

13. 2a®+1la—15>ala—3)+2
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Solve the inequality —122 + 42 + 9 < 0
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15, 6w(dw —3) 421 = 2Zw(10w + 1) = 13 16, dy(3y +5) — 20 > 9y(y 4+ 2) + 4
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18. TFind the smallest whole number value of x that

satisfies this inequality.

11,
5¢=—E}E+»i£

19. For what value(s) of r, a real number, 20.
is the following statement true?
3—2r(1—71)>6r—(2—(Tr+2r%))

sitive integers\satisfy the inequality
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21. A school club sold 1200 sweatshirts at $25 each
last year. This year the club estimates that for
each $2 increase in_the price. it will sell 50 fewer

. N S arar—T
sweatshirts. For what price of the sweatshirt will
it generate a revenue greater than $32,0007
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23. Solve |a* + 3z > 7

HW Ch 9 Page 4

Page 4

22, A charter bus company provides a bus trip for
a fare of $100 each for 40 or fewer passengers.
For each passenger in excess of 40, the fare is
decreased $2 per person for everyvone. What
number of passengers will produce a revenue
greater than $4400 for the bus company?

24. Solve |302 — 1| < 4w +5



